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1. The Time subscriber is not Brianna.

2. The 66 year-old didn't wear Givenchy.

3. The US Weekly subscriber is Kailyn.

4. The 54 year-old is not Kailyn.

5. The V.I.P. who wore Louis Vuitton subscribed to Time.

6. The V.I.P. who wore Louis Vuitton is not Kirsten.

7. The V.I.P. who wore Chanel is younger than Kirsten.

8. Of the V.I.P. who wore Giorgio Armani and Kailyn, one is 54 years old and the other is 62 years old.

9. Either the 54 year-old or the 74 year-old subscribed to People.

10. The Time subscriber is older than Kailyn.

11. The Fortune subscriber is not April.

12. The V.I.P. who wore Chanel didn't subscribe to Fortune.

13. The V.I.P. who wore Givenchy didn't subscribe to People.
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